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General Instructions:

Tl w1 fETd ¥

All questions are compulsory.

70 e T 34 e ¥, Ford o wuEt o, ®, waw g =i ™ wWUE-H I 1-13FF 8
FEfamedid ¥ €, wue-a # 6 ¥ € faTd wem & 2 30 T, woe-u 1§ 10 79 ¥ f s F
3 3t ¥ A Uz 1 10 ¥ # FTH 9% % 4 9% €

The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.

w5 we T & g fawed Tl €

There is no overall choice in this question paper
Fergeiet %1 wEE dfed €

Use of calculator is not permitted.

@us-31 / SECTION - A

gy HET 1 | 8 A ek W 1 37 A €
Question numbers 1 to 8 carry 1 mark each.
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and b are two positive integers such that the least prime factor of o is 3 and the least prime factor of
bis 5. Then, the least prime factor of (g + b) is :
{a) 2 {b} S (c) 5 (d) 8

TRl SR ek n %1 9 | 1 ¥4 W 9wer 7 31 ES T AN S (30—1) 1 9 F 9w e 1
& ?

(a) 1 {b) 2 {c) 3 (d) 4

A positive integer n when divided by 9, gives 7 as remainder. What will be the remainder when
(3n—1}is divided by 9 ?

fa) 1 {b) 2 {c) 3 (d) 4

L HEN1:3 % A F ¥ 1 3fE S A s S o, o a9 SEum e 28 Wi ) & e ¥
(a) 4,12 {b) 5,15 (c) 6,18 (d} 7,21
Two numbers are in the ratio 1 : 3. If 5 is added to both the numbers, the ratio becormes 1 : 2. The

numbers are :
EY 4,12 (b} 5,15 {c) 618 (d) ikt

e BHH 9898 522 —kx +8 F TAH SI A 3% Tk H AT

@A) 3 M © 15 D) &
If the sum of the zeroes of the quadratic polynomial 5x2—Lkx+8 is 3, then the value of k is :
A) 3 B -15 © 15 ) 8

AABCHAC=24cm, BC=10 cm 3R AB=26 cm &, T :

{a) ZB<80° {b) LC>90°
€}  £c=90° (d)  £B=90°
In A ABC, AC=24 cm, BC=10 cm and AB=26 cm, then :
() ZB<90° {b) ZC=90°
{c] LSC=190" {d) ZB=90"
= coszB]"‘]—ﬁIqﬁ%:
I+ tan’?®

{A) i (B} ==l
(C) ik {D) 2
The value of (1 — cos 8) + — is:

1%+ tan™l
(A) -2 (B) |
{c) 1 (D} 2




2/ % wwm AaBc fed B WM § C W W@ W Y W sinChoosC WA 1

T

4 1 (B) 2

(© 19=H (D) 1% #Es

If C is an acute angle in a right AABC, right angled at B, then the value of sinC + cosC is equal
to:

(&) 1 (B) 2

(C)  less than one (D)  greater than one

/B/ TS TF wlipa HAiwal & 9 ATHH WER' T H T GHR' F A0 TER (30, 45) W Wawws F 1
. & & el %1 HeEw
(A) 75 ® 15 (€ 30 D) 45
If the curves for more than ogive and less than ogive of a given grouped data meet at
(30, 45) then the median of the data is :
(A) 75 (B) 15 (© 30 (D) 45

@Us-9/ SECTION - B

T HEAT 9 | 14 T Wedeh WY 2 3kl HI g
Question numbers 9 to 14 carry 2 marks each.

/ 7% ab= 1800 &I a A4 h T HCF =15 &I, T g R b F1 LM T1a AT | 2
Find LCM of o and bif ab=1800 and H.C.F of g, b=15.

A o R WA S T SRR 204 5x 4 k T TF Y T OE IS oI &, 96, TR 2
Y[ 1A FITT |

For what value of k, one zero of the polynomial 2x*+5x +k is the reciprocal of its other zero ?
Hence, find the zeroes of the polynomial.

11 o oo 989e 9 Shee g & 9% J2 a9z e

-~ Find the quadratic polynomial whose zeroes are ~/2 and 24/2 .
12" % FmEfa §, AABC H2A = /BRI AD=BE ¥ g FiSY 7% DE|AB &1 2
|
!
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A B
In the given figure, ABC is a triangle in which Z£A = /B and AD = BE. Prove that IDE||AB.
C

A B

I tan m = cot n B, A1 THE HIFL fF m+n=90"%1 2

If tan m=cot n, prove that m 4+ n=290"

/ [2if vt SR Sed &1 ATeA 24 8, |1 p 1 HH 97 HI : 2
| =i 0—10 |10-20 |20—30 [30—40 |40-50
Eﬁ'ﬂ?ﬁl 3 -+ P 3 2
If the mean of the following frequency distribution is 24 find-the valueof p:
Classes 0—10 |10-20 |20—30 |30-—-40 |40-50
Frequency |3 4 P 3 Z

@Us-9/ SECTION - C

T AT 15 W 24 T Wellch WA 3 316 &1 €1
Question numbers 15 to 24 carry 3 marks each.

15 fyg =R fr 2 - 5 O s wem ¥ 3
L

Prove that 42— «E is an irrational number.

foua FEUE 247~ 3+5x  YAEH A HIMG, wqpﬁﬁtgﬂm%ﬁ"aﬁaaﬁﬂﬁmaﬂm 3
FHifaw |
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Find the zeroes of the following quadratic polynomial and verify the relationship between the
zeroes and the co-efficients -

¥ —3 45z,

J}ﬂ @ n & & T T FI oo fag e o 70 (2m—=T)x+3y=5, 3x+(n—-1)y=2%F

S T g s ea Al |

Determine the value of m and n so that the following pair of linear equations have infinite
number of solutions.
(Zm—1)x+3y=5, 3x+(n—1)y=2

4 789 31 6 w2 Forsl =™ H 20 57 § g0 5% v £ @0 3 70 o 4 wek = 28 fem o qm
FHHE & Hhe TF T IR e Tk wied g S S o1 0 FE 1 THY T Fif

4 men and 6 boys can finish a piece of work in 20 days, while 3 men and
4 boys can finish it in 28 days. Find the time taken by one man alone and that by one boy alone to
finish that work.

afq AABCADEF, AB =8 cm, DE=12 cm, EF =6 cm 3T FD =15 cm B, T AABC %1 YIHTT 19 wifwe |
If A ABC ~ A DEF, AB=8 cm, DE=12 cm, EF =6 cm and FD = 15 cm, find the perimeter of A ABC.

T gHwE ABCD, e AB|DC %, ¥ el v fiig O w whsee w20 €1 9f AB=2cD % @
AAOB 9T ACOD F &=l T 9 e Hirerg

Diagonals of a trapezium ABCD with AB||DC intersect each other at the point O. If AB=2CD,
tind the ratio of the area of triangles AOB and COD.

N

Ferfafoa arferrist & wam fam 3 = 9w g Fif .

«

cos50” 4 4{cusuc? 56" — tan?af} 2 = o -
= = = —tanl? tan¥§ .sin%0
25ind0 3tan” 45" 3
Find the value of the following without using trigonometric tables :
2

T i . y
= —tanl2 tan78§ sin90

25ind0” Stan 45 3

e { Lt e
cossl e 4lcosec 59 tamn

22 AT sinfl=cos T, @ atan 0+sin -1 &1 0 19 Fifea |
If $in =cos8, find the value of 4 tan 8 4-sin 6 —1.

T e faT % WA © (9 92 1 0T S ST
|EFT: 2030 30-5'1—@:—50 50-60 |60-70 |
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FE ;| 25 10 2 33 10
Find the mean of the following distribution using step deviation method :
Class : 20-30 |[30-40 |40-50 |[50-60 |60-70
Frequency: |25 40 42 33 10 :

- ——

=9 % 70 QTR 3 =1 1 A B (WR) 7 QRO 8 i i g 3
aR (. H) | ]
| _ 200 - 201|201 - 202|202 - 203|203 — 204 204 - 205|205 - 206
[l e | 13 27 18 10 1 1
T Aty gRT UfEe o1 91e R Fid i |
The weights of tea in 70 packets are shown in the following table :
e 1 T Ce—
g 200 - 2011201 - 202202 - 203|203 - 204 {204 - 205|205 - 206
|| (in gm) : |
No. of packets : |13 27 18 10 L. 1 |
Find the mean weight of packets using step deviation method.
"'lf-j eV
@Ug-g/SECTION - D €9
W9 T 25 ¥ 34 7 Weidh WA 4 3! w1 g
Question numbers 25 to 34 carry 4 marks each.
it e AU U9 3 T 96 5T T8 ¥ v it & o g w3 TRl WA F 4
= 9% HAw: 10, 16 790 20 fae o ¥ Afe FF 7 O W R @ e w9a F 9 T
% H1E FI TG ¥E B | T A= 7 b el B e gl ?
Amita, Suneha and Raghav start preparing cards for all the persons of an old age home. In
order to complete one card, they take 10, 16 and 20 minutes respectively. If all of them started
together, after what time will they start preparing a new card to gether 7 Which values do
these children reflect.
4

plx) =8x* + 142" —2¢" + 8x — 12 7 AT =T WM 1 @i frar =g Fed 4 +3x —2 F89S p(x)

OGS B WY 2
What must be subtracted or added to p{z) —8¢* +142" — 22 +8x~12 so that -12:2+3x-2: is a
factor of p{x) ?

Y
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ity |

E_Sa:mter charges consist of fixed charge and remaining depending upon the distance travelled
in km. If a person travels 10km, he pays ¥ 65 and for travelling 16 km he pays T 95. Find the
fixed charges and rate per km.

/qmmﬁmﬁg&ﬁﬁ%aﬁﬁﬁﬁﬂqﬁﬁaﬁmlecmﬁtscm%ﬁﬂa%mmaﬂﬁ

e T = e e T

Sides other than the hypotenuse of a right triangle are of length 16 ¢m and
8 cm. Find the length of the side of the largest square that can be inscribed in the triangle.

3 AF sinf +cos0 = m T sech -+ cosect =n ¥ 61 % FFAT B nfm’— 1) =2m

4ed WY 1 Hu fafay @it <8 fag ifa
State and prove Thales theorem.

If sinf +cosfl=m and secB+ cosccl =n, then prove that n{m*—1)=2m

/ ¥ 1 FE T T HIE 2 2 cosec” 30°+ x £in“60° — 2 tan>30° = 10

4

Determine the value of ‘x’ Such that 2 mwcz 30°+x sin26ﬂ° — 1;em2 3% =-10

% A% sin = ﬁi—_;aﬂtd}n%,aacosﬂﬁzma%maﬁaﬁml
a2 |

If sinf =

C
2 57

and d = 0, find the values of cosf and tanf.

4

3d 71 anaERa 79 F ok OF 8 s e aRe @S| A 92 S WS O ST
35 - 40

/ = 5-10

10215 | 1526

20-25

25-30

30-35

AR : | 2

12

2

+

3

4

3

Draw a more than ogive for the following frequency distribution and hence obtain the median.

Class :

[5-10

10-15

15-20

20-25

25-30

30-35

35-40 |

Frequency : | 2

L2

2

4

3

4

i

|
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ELE
(il | D29 |30-34 [35-39 |40-44([45-49 |50-54
AERA | 4 14 2 16 6 5

55-59

3

Find the mean age {m years) from the frequency distribution given below :

Class (age

: p5-29 |30-34 |35-39 |40-44 |45-49 |50-54 |55-59
in years) 1 i
frequency | 4 T 16 6 5 3
Fong %%g'}:?
T &
-\ L S
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